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Circle the correct answer:

daaall LlaY) Jea bl au

1) A pharmaceutical company 4y 9 S il gaa) w5 (1

wants to lest whether a new aa o) gd Allad gaa Ll
(S Sheg 8 gall (LS 13) La 2as

medicine is effective ,
Determine whether the situation
calls for

A) |Survey

B) |Experiment

C) |Observational study
D) |other

2) Determine the distribution il o) gilY) £ 51 2aa (2
type of the curve shown in ¢ Al JLEIL il gall
the following figure?

The distribution is positively  «as« 25
The distribution is negatively  <llw g5
The distribution is symmetrical  Jitaia a5
Other Ay &




3) Determine the discrete (o Jualial) (Al glad) jpiial) 20a (3
random variable among the ¢ AUl A gdad) ) palal) G
following random variables?

A) | The length of one of the basketball players on the
school team. A ) 5y L) 5 S e aal Jsha
B) | The weight of football used in a match

Sl jlead) (gaa) ‘“,A daddiicall addl) 3 S (439
C) | Number of books in the school library

o _jdall A8y 33 g2 gall S M3
D)|Speed of one of the contestants in the Olympic

swimming competition
ol WU Aalacd) dllase A Cpbiludal) aa Ae

4) What is the expected value o sill dad gial) daddl) e (4

of the following probability ¢ Al Alaial

distribution?
1

0.02
0.16 {
0.40
0.32
| 0.10 |




5) by x,thenthe value of k | xJ sl ajeill Jgaa aladiuly (5
using the probability s obed ke dad 1
distribution of

X
p(x)

4) | 0.1
B) | 0.3
c) [0.4
D) | 0.2

6) Ahmed guesses 10 questions Adpay Alic) 10 ) a3y (6
in the form of (right or wrong) in | SJ&83) ) (Ll =ls<)
a test What's the probability that 7 sl sl d’;::f:t‘:
Ahmed will get 7 correct answers? ) n

A)

B)

0)
D)

1024

7) fu=52,06=1.5, X =49 u:52,;a=&-\'l5\3! (7
find the value of z ¢ z4dand1.5, X =49

A)
B)




8) If the probability of a student’s success in mathematics
is 80%, 10 students are chosen, then what is the
probability of 4 students succeeding in mathematics?

4) | 0.0055
B) | 0.088
) | 0.20
D) | 0.80

9) 1200 students took the police | 4uis <l Lidy Wik 1200 a5 (9
college exams and their lengths | il g agll shi cuils g dda i)
followed a normal distribution of 170 cm b giay aubl
an average of 1770cm and a 2.5 cm g ulbea Gl adlg
standard deviation of 2.5cm &l Jglan Lardinia aa gl

Using the normal distribution ae dadall AW gl k)
tables or the calculator, find the Ce agdishl L3 A Ul
number of students whose $174cm
height is more than 174cm

A) | 0.0548
B) | 0.9452
0) | 1134
D) | 65

10) Evaluate lim f(x) of the ) Jilall Jeil) e talaie) (10

following graSﬁo:)f f(x) L A aag) f (o) A Siay
lim f(x)

X——00




A)

B)

¢)

DNE ( Does Not Exist )

D)

oo

11) Evaluate lim

9—x2

x—-3 X—




12) From the following figure A JaBall JS& e lalade) (12
that represents the function Ll Aad aa ol () A Jiay
f(x) find _
4+ f(x =
lim ﬁ + 5=

x—-—2 X

A) |-3

B) | 7

C) |DNE ( Does Not Exist)
D) 3

Vx—2

13) Evaluate lim
X—

4 x—4

DNE ( Does Not Exist )




14) § f(x) = {

then lim f(x)

x—--2

A [-3

B) | 9

C) |DNE ( Does Not Exist)

D) | -2

15) The slope of the tangent

line of f(x) = vV2x at the point
(8,4) =

A Jaial uladdl Ja (15

(8,4) adaill) A f(x) =+v2x
§ Sl

A4)

B)

¢)

D)

16) An object moves vertically
upward according to the
function s(t) = —3t> + 6t + 5
where s(t) in meters, time t in
seconds

Find the maximum height the
object can reach?

@y AoV Ll asa a5 (16

s(t) = —3t> + 6t + 5 4

S a3l ¢ UYL s(E)dus
i o)) Sy B ) B 22
¢ ) 4|

A)

B)




17) Ifg'(-1)=4, g(-1) =3 g'(-1) =4, (17
and f(x) = x*g(x) find f'(-1) fix) = <8y g(-1) =3
goud f(—1) O x%g(x)

A)
B)
¢)
D)

18) The following figure A Gy Jlay o2 b Js&l (18
represents the function f(x) | lim X7, f(x;)Ax % 08 f(x)
Find lim ;i f(x;)Ax in the O dwtia alakialy [—3, 3] 5l
interval [—3, 3]

h Limited School Edition




19) [(Vx + 2)(Vx — 2)dx =

2
A —2—4x+C
X

20) Use integration to calculate dalun Glual Jalsil) aadia (20
the area between the curve of Al e Oy °JJ*““3‘Z“M‘
the function f(x) = 3x — x* + 4 w249 f(x) = 3x —x" +4

. [0, 4] 8R4 2 i)

and x-axis in the interval |0, 4
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